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General Instructions :
Read the following instructions carefully and follow them :

(i)
(i1)
(i)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5 marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculator is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

1.

56/5/3

16x1=16
CH3CH,CHO and CH3CH,COOH can be distinguished by :

(A)  Sodium bicarbonate test
(B)  Hinsberg test

(C)  Iodoform test

(D) Lucas test

While doing qualitative analysis in chemistry lab, Abhishek added yellow
coloured potassium chromate solution into a test tube. He was surprised
to see the colour of the solution changing immediately to orange. He
realised that the test tube was not clean and contained a few drops of
some liquid. Which of the following substances will be the most likely
liquid to be present in the test tube before adding potassium chromate
solution ?

(A)  Sodium hydrogen carbonate solution
(B)  Methyl orange solution

(C)  Sodium hydroxide solution

(D)  HCI solution

#3# P.T.O.
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frefeRaa stopetl § & fpaehl wefa fora 2 2

(A)  1-FA0HT (B) 2-FAI9IoT
(C) 1A (D) 2-FANSLHA

CH;CH,OH &I CH;CHO # uftafia foram s aerar 2 -
(A) ST BESISHA gRT

(B)  LiAlH, 3 & SAMfRRA Feh

(C)  PCC = | FAfufsrRrd hiteh

(D)  KMnO, % & 1ffsrRra sk

CH, — CH, — N(CH;) — CH,, — CH,, - CH3 T [UPAC A ? :
(A)  N-ufreu=a-2-tH

(B)  N-UfIa-N-Oforersiod-1-vefia

(C)  N,N-SEefesiua-1-UH

(D)  N,N-STEAfYeNA-1-Ui

AfreRTeR Y FigdT [R] 3T 99 4’ o &g AT < exiian 71 ® | I8 370 & 18
srfuferar < it § 9 foraent SAG sar @ 2
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O 9 —>
(A) TR B) fsfwafe
(C) Yaq I (D) IR
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3. The role of a catalyst is to change :

(A)  equilibrium constant

(B) enthalpy of reaction

(C)  Gibbs energy of reaction

(D) activation energy of reaction

4. Which of the following molecules is chiral in nature ?
(A)  1-chloropropane (B)  2-chloropropane
(C)  1-chlorobutane (D)  2-chlorobutane

5. CH3CH,0H can be converted to CH3CHO by :

(A) catalytic hydrogenation
(B)  treatment with LiAlH,
(C) treatment with PCC

(D)  treatment with KMnO,

6. The IUPAC name for CHg — CHy, — N(CHj3) — CHy, — CH, — CHg is :
(A) N-methylpentan-2-amine
(B) N-ethyl-N-methylpropan-1-amine
(C) N,N-diethylpropan-1-amine
(D) N,N-dimethylpropan-1-amine

7. A plot between concentration of reactant [R] and time ‘¢’ is shown below.

Which of the given order of reaction is indicated by the graph ?

(Rl
[R]
O Time —
(A) Third order (B) Second order
(C) First order (D) Zero order

NN\ N NN
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(A) T ATEEIEE

(B)  TE2IUdT
(C)  ATEIMIT
(D) TAH

i\ o 0N o o

.. n . .
HfciRaa Stett forermt & o foreenT fenier Saaw g 2

(A) 1-0MKCI

(C) 10 M=
(D) 1-0 M AICl4

fafafigd 9 9 9-a1 tfeegee sismr srfyfsrar e 2

(A) CHy-CH-CHO

|
CH,

(B)  (CHy)3C CHO
(C) CH,-CH,- CHO

(D) CHg3-CH-CH-CHO

| I
CH; CH,

o

frferRad wugl § O foreeh a1 3T ST faemr A @b € 2

Q

I. Cu* II. Ti%t III. Co2* IV. Fe2t

[ORETO] SRHT : Cu = 29, Ti = 22, Co =27, Fe = 26]

(A) I3RII (B) IISMIII

(C) III3RIV (D) 13RIV
#6#
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8. The treatment of ethyl bromide with alcoholic silver nitrite gives :

(A)  ethyl nitrite
(B) nitroethane
(C) nitromethane

(D) ethene

9. Which of the following aqueous solutions will have the highest freezing
point ?

(A) 1-0MKCl

(B) 10 M Na,SO,
(C) 1:0 M Glucose
(D)  1-0 M AIClq

10. Which of the following aldehydes will undergo Cannizzaro reaction ?

(A) CHz-CH-CHO

|
CH,

(B)  (CHy)3C CHO
(C) CHgz-CH,- CHO
(D) CHz-CH - CH - CHO

| |
CH; CH,

11. In which of the following groups are both ions coloured in aqueous

solution ?

I. Cut II. Ti* III. Co? IV. Fe?
[Atomic number : Cu =29, Ti=22, Co=27, Fe=26]

(A) TandII (B) Il andIII

(C) IIandIV (D) TandIV

—_— NN\ N NN
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12. Match the type of cell given in Column I with their use given in Column II.

Column 1 Column I1
i.  Lead storage cell a. Wall clock
ii. Mercury cell b. Apollo Space Programme
iii. Dry cell c. Wrist watch
iv. Fuel cell d. Inverter
(A) i-a, ii-b, iii-c, iv-d (B) i-d, ii-c, iii-a, iv-b
(C) i-c, ii-d, iii-b, iv-a (D) i-b, ii-a, iii-d, iv-c

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given
below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A): The solubility of aldehydes and ketones in water
decreases with increase in size of the alkyl group.

Reason (R): Aldehydes and ketones have dipole-dipole interaction.

14. Assertion (A) : The boiling points of alkyl halides decrease in the order
RI > RBr > RC1 > RF.
Reason (R): The van der Waals forces of attraction decrease in the
order RI > RBr > RC1 > RF.

15. Assertion (A) : For measuring resistance of an ionic solution an AC
source is used.

Reason (R):  Concentration of ionic solution will change if DC source is
used.

16.  Assertion (A) : Henry’s law constant (Ky) decreases with increase in
temperature.

Reason (R): As the temperature increases, solubility of gases in
liquids decreases.

56/5/3 #9# P.T.O.
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20.

21.
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Qs g

(®) CaCl, (WIeR F=90H = 111 g mol 1) & 3 g & 260 g I H = T
AT foreta o FeHIe T 31, I8 W 8¢ o CaCl, i foittsia gt mm
, uferfera ShifTe | (31 & faT Ky, = 0-52 K kg mol ™) 2

YT

@) X AR Y 59 A& e 9 € | Y8 K AR TS Y o AT I HAA:
120 mm Hg 31 160 mm Hg ¥ | X’ 3R Y’ & TU HieAt sl e s

e foretas =1 a7 g1 ufterferd ST | 2
mol /LA KCLTaeT | Sem™ #1298 15K | Scem? mol! 429815 K
RG] T ATTHAT T I STAHdT
1-000 0-1113 111-3
0-100 00129 129-0
0-010 0-00141 141-0

U U T SAThReT o YR YT, HEdT o A1 ATAhdl ST el ATcAshdl H Tied o
e gafera spmor s | 2

() SATufsram shi e T ek & e 1S a1 e ife | 1

@) R X + Y — Z, o/ X 3R Y ST T ife sermiehl st STeRr sid
&; afe X T |isdr QT ST Y AT |igar i T o < ST, dr AR o o
FAT IS TS 2 1

443 K T HE HySO,, o 81 UfIS UThIRTe o Fsior shi fshamfafer feffad | 2

(F) WIS ol O H HTaTTotcTeh TFeT SATerh TR 81T & | SReT A1 |
@) Sfceess SR WA § fade s o foe wew et wheor i |

NN
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SECTION B

17. (a) Calculate the elevation of boiling point of a solution when 3 g of
CaCl, (Molar mass = 111 g mol 1) was dissolved in 260 g of water,
assuming that CaCl, undergoes complete dissociation. (Kj, for

water = 0-52 K kg mol™1) 2
OR

(b)  Liquids X’ and Y’ form an ideal solution. The vapour pressure of
pure X’ and pure Y’ are 120 mm Hg and 160 mm Hg respectively.

Calculate the vapour pressure of the solution containing equal

moles of X’ and Y’ 2
18. Concentration of KCI Conductivity at Molar Conductivity at
solution in mol/L 29815 Kin S cm™1 | 29815 K in S cm? mol™?
1-000 0-1113 111-3
0-100 0-0129 1290
0-010 0-00141 141-0

Based on the data given above, give plausible reason for the variation of

conductivity and molar conductivity with concentration. 2
19. (a) Give any two differences between order and molecularity of a
reaction. 1

(b)  For a reaction X + Y — Z, in which both X and Y follow first order
kinetics; if the concentration of X is increased 2 times and
concentration of Y is increased 3 times, how does it affect the rate
of reaction ? 1

20. Write the mechanism of dehydration of ethyl alcohol with conc. H,SO, at
443 K. 2

21. (a) Carboxylic acid is more acidic than phenol. Give reason. 1
(b)  Give a chemical test to distinguish between benzaldehyde and
acetophenone. 1

AAAANAAAAAAAANANNA
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(1) Zai ol o W AT § aie @ gat ?

(i) THT T aTd e A = 2

(iti) 39 TR o foreme o1 Ue Sareror ifS |
T

@) () ISl SATR H I 8 @hl TS il G916 B § A9F Sedd ¥ forg a®
Hee ferdt 2 2

(ii) ST BIAT 8 ST AT (SR SHITRIST bl 0-5% (SeIHH/AAT) Alfeaq
FANTZE Toreta B T@T STt © 2 3194 S 1 sifaer ifsie |

(iii) ST qRrEReT T Ueh SyEnT faf |

23. AfufshaT A + B — 3Icae & fou, sifsmeement it fafi yifiyes aigaret & fau
frferia srfes 97 amw e :

#qik | [Al/mol L1 | [Bl/mol L™l | YR IT/mol L™ s!

1 01 01 0-05
2 0-2 01 0-10
3 01 0-2 0-05

A SR B o |rugr SAlsRar i shife TR STwisram ot &my sife Jid A |

56/5/3 #12 #
—f




[EE
EL%;

22,

23.

56/5/3

(a)

(b)

SECTION C

Shweta mixed two liquids A and B of 10 mL each. After mixing, the

volume of the solution was found to be 20-2 mL.

(1)
(ii)

(iii)

(i)

(i1)

(iii)

Why was there a volume change after mixing the liquids ?

Will there be an increase or decrease of temperature after

mixing ?
Give one example for this type of solution.

OR

How does sprinkling of salt help in clearing the snow covered

roads in hilly areas ?

What happens when red blood cells are kept in

0-5% (mass/vol) NaCl solution ? Justify your answer.

Write an application of reverse osmosis.

For the reaction A + B — Products, the following initial rates were

obtained at various initial concentrations of reactants :

SI. No. | [Allmol L1 | [B]/mol L™ | Initial rate/mol L™ s7!
1 0-1 0-1 0-05
2 0-2 0-1 0-10
3 0-1 0-2 0-05

Determine the order of the reaction with respect to A and B and overall

order of the reaction.

#13 #
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(F) & oTTee o1 AT ST ET=AT ST |

@) [Ni(CN), % 3 eHaeita @ @tk [Ni(CO),] Fqhehi & | &1 2
[SRHTY] ShHTeR : Ni = 28]

frefafaa & forg o s -

() it gfeeerme srfirfsramstt & afa dads e srfuframsfia aa € |

@)

M

(h)

@)

el 7R HeT qeraaEl il qeT § p-STEFaisisi = 1 e T Soaat g ¢ |
SN2 SAMTsRaT & i qefterek Ufoshet daTse STeqan STfshamefial 8 ¢ |

Frfaftaa o foe gemafes e fafe
(i) =g Q BH ot

(i) U T TSR
fefctRaa st qut i -

(CHg)g C — O — CH, + HI —

fferiaa stfufsransti & fita 3come fafay :

(%)

@)

(M

(h)

@)

CH43CHO + NH,CONHNH,, —»

CH,CHO — BNaOH |

Cly/dAP
CH3COOH —277

Th oh YaRT ST oh Tl SerT farerfod 1 = fofaT |
I o ferhefteRtor & T TR § 2 ok IaTeXv i |
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24, (a) Write the name and structure of a hexadentate ligand. 1

(b)  Why is [Ni(CN),4] 2- square planar while [Ni(CO),] is tetrahedral ? 2
[Atomic number : Ni = 28]

25.  Account for the following :

(a) Haloarenes are less reactive towards nucleophilic substitution
reactions. 1

(b)  p-dichlorobenzene has higher melting point than ortho and meta

isomers. 1
(¢)  Tertiary alkyl halides are least reactive towards Sy2 reaction. 1
26. (a) Write the chemical equation for the following : 2

(1) Preparation of phenol from cumene
(11)  Nitration of anisole

(b)  Complete the following : 1
(CHg)3C-0O-CHs + HI »

27.  Write the products formed in the following reactions :

(a) CH3CHO + NH,CONHNH, — 1
(b) CHy,CHO —4L-NaOH , 1
Cly/redP

(¢ CH3COOH 1,0 1
28. (a) Name the vitamin which is responsible for coagulation of blood. 1

(b)  What is meant by denaturation of protein ? Give an example. 2

[ AN \N\NN\ANN\NNNNNNANAANNNANNANANAN
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SECTION D

The following questions are case-based questions. Read the case carefully and
answer the questions that follow.

29. Carbohydrates are polyhydroxy aldehydes or ketones that represent
enormous structural diversity in terms of the arrangement of atoms in
space, resulting in hundreds of stereoisomers. Although the chemical
properties of most stereoisomers may not be very different, their
metabolic rate and utilization in biological systems is significantly
different and known to influence the overall carbohydrate metabolism.
Structural variants, which arise due to a different arrangement of atoms
in three-dimensional space are known as stereoisomers. The number of
stereoisomers can be theoretically estimated by using the formula 2n,
where ‘n’ is the number of stereocenters or asymmetric (chiral) carbon
atoms in a molecule. Out of these stereoisomers, there are some
structures, which are mirror images of each other, and they are referred
to as enantiomers.

Answer the following questions :

(a) Give chemical reactions to show the presence of an aldehydic group

and straight chain in glucose. 2

(b) Q) Define anomers. 1
OR

(b) (i) Draw the structure of B-D-Glucopyranose. 1

(c)  Sucrose is known as invert sugar. Explain. 1

30. Werner’s coordination theory in 1893 was the first attempt to explain the
bonding in coordination complexes. It must be remembered that this
theory was put forward before the electron had been discovered by
J.J. Thomson in 1897, and before the electronic theory of valency. Werner
did not have any of the modern instrumental techniques and all his
studies were made using simple experimental techniques. Werner was
able to explain the nature of bonding in complexes and he concluded that
in complexes, the metal shows two different sorts of valency : primary
and secondary. Primary valences are normally ionisable whereas
secondary valences are non ionisable.

56/5/3 #17 # P.T.O.
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ffcTRaa wei o TR I ;

(%)

@)

M

(M

(k)

T HId CrCly . 4H,0, AgNO, T o siierey o |rer sifaishia forg St
T T A AgCl F&IfUd a1 8 | (i) Fohet shT HTaTersh g 3R (ii) Cr
fecaren gaisteRar forfiaT |

T 7R depet H T SR 2

(i)  FAfIRaT depall i e e § ATetehdT & sed 8T A H S ied
?ﬁﬁlﬁ :
[Cr(NHg)5Cll, [Cr(NHy)ICly, [Cr(NHy),CIIC,

areraT
(i)  SYEEHIASH Aifireht h rurfien R fediees Gaisehdrel o sfi= ar 3@
forRau |

Qs s

(1) o IRRICTEISE STAEh i A1 ol Iufefd § KOH o |ref @ferd fomar
ST & o 7T 8L {7 T 3T ‘A’ ITH BIdT & STt 37vef 1T gream | St @1
it ‘B’ # uftafda 2 Smar g |
D AR B * g fafan |
(II)  Nfires ‘B’ <l Tefta wrea o Fe* o qrer sifufsran w1 smafren

et fafaw |

(i) RO
1) S faem 8 Cett us 1= STaihis 2 |
(IT) ﬁ@qﬁa@a@w?ﬁgmﬂﬁ@aﬁﬁaﬁaﬁ%aﬁm

T ST BT 8 |
(I1D) Eozn2+/zn FH AE UL ¥ R RONHE ©, SiEfh
E;u2*/cu ST € |
Frora
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Answer the following questions :

(a)

(b)
(c)

(c)

(a)

One mole of CrCly.4H,0 precipitates one mole of AgCl when
treated with excess of AgNOj; solution. Write (i) the structural

formula of the complex, and (ii) the secondary valency of Cr. 2

What is the difference between a complex and a double salt ? 1

(1) Arrange the following complexes in the increasing order of
conductivity of their solution : 1

[Cr(NH_);Cl3], [Cr(NHy)glCl, [Cr(NHy)sCIICI,,
OR

(i1) Write two differences between primary and secondary
valences in coordination compounds. 1

SECTION E

) When pyrolusite ore is fused with KOH, in presence of air, a
dark green coloured product ‘A’ is obtained which changes to

purple coloured compound ‘B’ in acidic medium.
D Write the formulae of ‘A’ and ‘B’.

(II) Write the ionic equation for the reaction when
compound ‘B’ reacts with Fe2* in acidic medium. 2
(i1))  Give reasons : 3
(D Ce*t in aqueous solution is a good oxidising agent.

(IT) The actinoid contraction is greater from element to

element than lanthanoid contraction.

]

(ITI) Ezn2+ 170 value is more negative than expected,
whereas EOCu2+ /Cu is positive.
OR

#19 # P.T.O.
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@)

(h)

@)

(i1)

(i)

(i1)

(i1)

HTSIAT TUTHT T AT Fld T, ST 4 HE o T ATHR | T
HUMH SFER o | 36 9 fo it Hf 3t @98 # Zr % 3% A=
2, ToRT off STk TRATY] SRR T H0H £ |

) W fou 7u =gaer & o - afteer saErt § 2 3
gewmsT fefae |

(I 39Yh fCereHT o fopelt 311 aftorm o1 Seete hifsry |
frefofiaa o fore smor i

() CHAYT LTqE SRR ToTer emie € |

(I)  EshuoT Tgatt i FoH Tt 3= Brdt @ |

(II) Sc Te HehAYT I §, STalfeh Zn Tl |

foreft Aeaft Bt o fore, frfarfiaa s srfufsramd & s 8 | fofa dfifsig
for -, Sore eAfiforar wft 3t fopant gfdetme grent Sftareftertor
arfurferam gnft | 37 ST o fofe s difSTe |
I) Cr**+3e" > Cr(s); E°=-074V
(I) Fe?* +2e~ — Fe(s); E°=—044V

36 U ol el shifTe ores fefefiaa stfufsrar St & -

Mg(s) + 2Ag™ (0001 M) — Mg?* (0-100 M) + 2Ag(s)
Ife E%a =317V, E o T qiere i | (log 10 = 1)

YT
IS IH QTS | 36 13 &1 HAIANT AR |

N NH,CL, A% NaOH 3R A%, NaCl sesl: 129:8, 217-4 3R
1089 Scm?mol™ § | 1x102M, NH,OH foe= I #ier”
=Rl 9-33 S em? mol! ® | 39 wWigar W NH,OH foeem &
ERISERIEIRCARECI GRS
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b)) @ While studying the periodic properties, Arti came across an

abnormal behaviour in the atomic size of Hf. She found that,
even though Hf is placed below Zr in the same group, both
have almost similar atomic sizes.

D Which phenomenon is responsible for the above
behaviour ? Define it.

(II)  Mention any other consequence of the above
phenomenon. 2

(ii))  Give reasons for the following : 3
D Transition metals exhibit catalytic properties.
(I) Transition metals have high enthalpy of atomisation.
(ITI) Sc is a transition element, while Zn is not.

32. (a) (1) For a galvanic cell, the following half reactions are given.
Decide, which will remain as reduction reaction and which
will be reversed to become an oxidation reaction. Give
reason for your answer. 2

D Cr**+3e - Cr(s); E°=—-0-74V
(II) Fe?* +2e — Fe(s); E°=—-044V

(i)  Represent the cell in which the following reaction takes
place : 3

Mg(s) + 2Ag™ (0001 M) — Mg?* (0-100 M) + 2Ag(s)
Calculate E g if Egep = 3-17 V. (log 10 = 1)
OR
b)) @ State Kohlrausch’s law. Give any two applications of it. 2
i) AL,NH,Cl, A, NaOH and A, NaCl are 129-8, 2174,
and 1089 S cm? mol™! respectively. Molar conductivity
of 1x102M solution of NH,OH is 9-33 S cm? mol L.
Calculate the degree of dissociation (o) of NH,OH solution

at this concentration. 3

56/5/3 #214# P.T.O.
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(%h)

)

(i)

(i1)

(iii)

(iv)

(i)

(i1)

(iii)

T o oY STRfiven ahet H, Rtk T 319" BT CoH, N eTifvass
T AT i3 U X fodn AR BE | e foh 59 WA % TR A
TEETHY | BT § U S, Hiar 4 e fore o6 7w CgH5S0,C1 %
|1 ATHSRAT ek Tk ANk <dT 8 St NaOH foreta H 9ot ST & |
AT 319 a1 T 36 AT X Tl T2 B TETIAT B Hehel © 2

e el 3eh! STeftar et  pKy, AT o Sed §U 3hH H Faiedd

?ﬁﬁm:
C6H5NH2, (CH3)2NH, NH3, CH3NH2, (CH3)3N

U ATSZIRT gRT STAT ST U ScaTel o er-any J9qF 9 § 0y
3t i 2t 8 | =/t 2

U hT TYT=R0T ShITSTT
(D)  p-sERFHeE A
(1) W$HAH

AT

IR0 A TAAUHA SR CHCl, o forsir i weHiforsh KOH o a9 T
fera, oredr weh griveryeh e T | wiftwrfera Tremriren wteRtor foeTfa |

ffaRaa stwfsRmsti § A TR B ol 9g=TT ;
NH,

H, / Pd Bry / NaOH

A—\.> <€ B

OEIC]

Ul a1 F=feTRaa § wureawor it
D i
(I) GchHTAS 3T
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(a)

(b)

(i)

(i1)

(iii)

(iv)

@)

(ii)

(iii)

In a chemistry practical class, the teacher gave his students
an amine X’ having molecular formula CoH;N, and asked
the students to identify the type of amine. One of the
students, Neeta, observed that it reacts with C;H5SO,Cl, to
give a compound which dissolves in NaOH solution. Can you

help Neeta to identify the compound X’ ?

Arrange the following in the increasing order of their pKj

value in aqueous phase :

C¢HsNH,, (CH3),NH, NH5, CH3NH,, (CHg)3N
Aniline on nitration gives considerable amount of meta
product along with ortho and para products. Why ?

Convert aniline to :

(D p-bromoaniline
(II) phenol

OR

Arun heated a mixture of ethylamine and CHCls with
ethanolic KOH, which forms a foul smelling gas. Write the
chemical equation involved.
Identify A and B in the following reactions :

NH,

H, / Pd Bry / NaOH

ethanol

A B

Convert aniline to :
D benzene

(II)  sulphanilic acid

#23 #
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